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BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 1,918 182 77 178 202 143 2,557
SRR 434 84 6 43 81 42 648
aF= 490 88 3 51 81 40 713
=R 1,306 101 6 92 229 146 1,734
AR 339 32 1 13 37 19 422
LR 536 92 3 36 76 44 743
mEE 1,294 205 4 103 160 73 1,766
KR 2,409 200 15 224 340 178 3,188
N 1,531 106 7 145 232 138 2,021
HER 2,066 168 2 196 249 114 2,681
BEE 7,759 444 35 645 1,397 613 10,280
FEE 5,600 309 29 483 854 442 7,275
RRED 14,972 301 23 575 1,998 1,153 17,869
fESNS 9,087 273 24 565 1,627 871 11,576
Hino i 1,060 124 g 112 164 87 1,469
2R 571 54 6 57 58 35 746
alllR 726 77 8 68 84 44 963
BHE 495 32 1 39 39 19 606
LLBR 714 46 5 70 96 51 931
REFE 1,255 124 19 138 180 86 1,716
I RIS 1,560 143 10 79 221 83 2,013
EEIR 2,669 205 8 192 477 246 3,551
BHE 8,008 460 12 508 863 460 9,851
=ER 1,223 121 1 77 181 72 1,603
BER 842 86 3 68 137 70 1,136
RERRT 1,553 107 5 104 475 215 2,244
ABRAT 6,454 577 70 723 1,153 729 8,977
"ER 3,995 184 21 232 722 442 5,154
ZRE 786 67 0 48 116 59 1,017
AL 510 44 9 99 86 41 748
SWE 266 33 1 11 54 26 365
ERE 344 25 5 18 68 23 460
A L= 1,054 161 3 114 202 124 1,534
LBE 1,689 251 2 159 369 178 2,470
Hijm[= 726 62 3 58 117 50 966
e 379 19 0 36 70 41 504
&HIIE 569 66 17 71 120 72 843
BER 537 69 1 61 125 59 793
=S 256 20 3 22 62 19 363
ERR 2,792 287 18 302 442 282 3,841
EER 229 72 2 36 63 47 402
RIBE 451 43 9 45 112 45 660
HEARIR 674 74 3 50 122 82 923
AHE 517 53 1 36 101 55 708
=IFE 376 34 0 22 49 22 481
BREE 518 65 7 52 131 72 773
RIS 193 2 5 17 34 31 251
tT=4 0 0 0 0 0 0 0

a&t 93,732 6,372 502 7.073 14,856 7,983 122,535
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1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 1,429 121 54 134 181 132 1,919
SRR 352 51 0 28 74 39 505
aF= 399 51 0 37 73 39 560
=R 971 56 2 59 207 137 1,295
AR 268 24 0 6 32 18 330
LR 419 61 3 21 67 40 571
mEE 1,079 151 0] 73 143 64 1,446
KR 1,896 146 3 154 289 150 2,488
N 1,251 80 6 108 204 123 1,649
HER 1,675 133 0 153 233 107 2,194
BEE 6,338 321 12 499 1,241 543 8411
FEE 4,529 218 11 361 749 380 5,868
RRED 12,186 206 12 384 1,822 1,039 14,610
fESNS 7,526 184 15 461 1,488 789 9,674
Hino i 827 75 3 75 148 78 1,128
2R 439 38 4 44 50 31 575
alllR 548 46 8 45 73 37 720
BHE 370 24 1 30 32 14 457
LLBR 585 37 1 48 87 45 758
REFE 1,009 78 8 92 161 76 1,348
I RIS 1,255 74 7 54 204 80 1,594
EEIR 2,137 146 3 129 423 225 2,838
BHE 6,252 326 5 399 767 402 7,749
=ER 984 83 0 56 164 65 1,287
BER 696 41 0 38 125 60 900
RERRT 1,240 74 3 82 436 195 1,835
ABRAT 5112 346 38 510 1,014 644 7,020
"ER 3,133 105 10 160 641 395 4,049
ZRE 621 34 0 30 100 52 785
AL 381 24 7 58 72 32 542
SR 215 22 1 5 51 25 294
ERE 294 17 2 16 64 22 393
A L= 788 102 2 72 181 109 1,145
LBE 1,337 173 0 103 329 158 1,942
Hijm[= 538 36 2 35 106 46 717
e 308 14 0 21 65 37 408
&HIIE 439 50 9 56 103 61 657
BER 414 41 1 42 113 54 611
=R 204 9 1 17 60 18 291
ERR 2,043 156 7 189 392 248 2,787
EER 188 37 0 20 57 43 302
RIBE 371 20 9 26 96 41 522
HEARIR 498 49 2 32 110 74 691
AHE 411 29 1 24 88 49 553
=IFE 306 20 0 9 47 20 382
BREE 400 36 1 36 121 69 594
RIS 139 2 0] 15 31 28 187
tT=4 0 0 0 0 0 0 0

a&t 74,800 4,167 254 5,046 13,314 7,133 97,581






